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» PMMI (Pointwise Mutual Multiple Information )(&
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» {FFRIRIR  ubuntu16.04
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» UM ICERBRTIT O I2FEZEC IS

» 1. REDTF X MMEARGEWIKi3.3GB)ZMeCab’x A
L\_Cﬂéﬁ?\?ﬁtﬂl‘ﬁb Word2VecTa. b—c& L\ Sl
AR B DPMIZ KD B,




HER
Wiki(3.3Gb)DF7F+ X b Sword2vec THIREH SV, FT—Z AT
HIREHBWNAFT—25 > RY—TDHERZEIRE T D

: Jupyter word2vec E#SFE Last Gheckpoint: 07/17/2018 (unsaved changes) A Logaut
File Edit View Insert Cell Kernel Widgets Help Trusted | Pythen3 O
+ % @ | B 4 4 MRun B C | W Code v =

In [13]: from gensim.models import word2vec

model = word2vec.Word2Vec. load(”. /wiki.model")
results = model.wv.most_similar(positives[" % 7—", &t H 500" ], topn=100)
for result in results:

print{result)

2018-11-08 17:01:46,958 : INFO : loading Word2Vec object from . /wiki.model

2018-11-08 17:01:47,327 : INFD : loading wv recursively from . /wiki.model.wv.* with mmap=None

2018-11-08 17:01:47,327 : INFO : loading vectors from . /wiki.model.wv. vectors.npy with mmap=None

2018-11-08 17:01:47,382 : INFO : setting ignored attribute vectors norm to None

2018-11-08 17:01:47,383 : INFO : loading vocabulary recursively from . /wiki.model.vocabulary.* with mmap=None
2018-11-08 17:01:47,383 : INFO : loading trainables recursively from . /wiki.model.trainables.* with mmap=None
2018-11-08 17:01:47,384 : INFOD : loading synineg from . /wiki.model. trainables. synineg. npy with mmap=None
2018-11-08 17:01:47,433 : INFD : setting ignored attribute cum table to None

2018-11-08 17:01:47,434 : INFO : loaded . /wiki.model

2018-11-08 17:21:47,885 : INFO : precemputing L2-norms of word weight wvectors
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